A |

3 gasl) Q\J#SM

ol

4+ 6x° + 4(5x + 9x3) + 8

9x + 6x — 4x° — 3(x + 2)

6x° — 9% + 2x + 3(5x— 5x)

7+ 9x% + 3x — 9x° + 2x?

A(4x — 8x7) + 3% — Ox° — 4x?

Aagull NGBS

T+ 3+ 76 + 247 + 6x°

2(9x° — 8x)— 3x° — 9x° — 8x

x— 8 — 4y — 4x° — T’

3(9x2 — 6x2) —4x+ x> — 3x

Ox® + 2x +2(2% + 9x°) —x°
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ol

4x + 6x° + 4(5x + 9x3) + 8x
425 + 32x

Ox + 6x — 4x> — 3(x + 2x)
43 + 6x

6x% — 9% + 2x + 3(5x — 5%)
—3x% + 2x

73 + 9% + 3x — O + 2x?
—2x° + 1122 + 3x

4(4x — 8x%) + 3x% — 9x% — 4x?
—42x% + 16x

EEN NG BL

T2 + 3% + T + 2% + 6
13%° + 122

2(9x° — 8x) — 3x° — 9x° — 8x
6x° — 24x

x— 8 — 4 — 4x — Tx?
8> — 15 +x

3(9° — 6x%) — 4x + 7x° — 3x
T+ 92 — Tx

0% + 2x +2(2x% + %) — x?
18x° + 122% + 2x
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